[] g % m Multiply decimals by powers of ten

Name: Date: Score:
2.365 x 1000 = 4.518 x 1000000 =
7.931 x 10000 = 10.302 x 100 =
7.195 x 10 = 8.039 x 1000 =
2.396 x 1000 = 7.948 x 10 =
9.687 x 10 = 6.879 x 100 =
3.299 x 10 = 7.332 x 100000 =
4.516 x 100000 = 4.545 x 100000 =
8.544 x 10 = 7.931 x 100 =
1.631 x 10 = 8.101 x 100 =
8.801 x 1000 = 7.464 x 10000 =
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Multiply decimals by powers of ten

2.365 x 1000 = 2365

7.931 x 10000 = 79310

7.195 x 10 = 71.95

2.396 x 1000 = 2396

9.687 x 10 = 96.87

3.299 x 10 = 32.99

4.516 x 100000 = 451600

8.544 x 10 = 85.44

1.631 x 10 =16.31

8.801 x 1000 = 8801

Date: Score:

4.518 x 1000000 = 4518000

10.302 x 100 = 1030.2

8.039 x 1000 = 8039

7.948 x 10 = 79.48

6.879 x 100 = 687.9

7.332 x 100000 = 733200

4.545 % 100000 = 454500

7.931 x 100 = 793.1

8.101 x 100 = 810.1

7.464 x 10000 = 74640
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